
SAP ABAP table V_NLEM {Generated Table for View}

V_NLEM

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

ORGID [CHAR (8)]

LEIST [CHAR (10)]

LNRLS [CHAR (10)]

LFDBEW [NUMC (5)]

REFBEW [NUMC (5)]

ANFOE [CHAR (8)]

ERBOE [CHAR (8)]

HAUST [CHAR (2)]

MATNR [CHAR (18)]

TARIF [CHAR (2)]

ANPOE [CHAR (8)]

ICPMK [CHAR (2)]

ICPML [CHAR (10)]

ABTYP [CHAR (4)]

ZOTYP [CHAR (3)]

NLSLOK [CHAR (2)]

PATNR [CHAR (10)]

ZIMMR [CHAR (8)]

VKGID [NUMC (8)]

TMNID [CHAR (10)]

PAPID [CHAR (10)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 V_NLEM-MATNR = MARA-MATNR 
0..N

1

N1VKG

MANDT [CLNT (3)]

VKGID [NUMC (8)]

 V_NLEM-VKGID = N1VKG-VKGID 
0..N

{0,1}

NBAU

MANDT [CLNT (3)]

BAUID [CHAR (8)]

 V_NLEM-ZIMMR = NBAU-BAUID 
0..N

{0,1}

NBEW

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

LFDNR [NUMC (5)]

 V_NLEM-LFDBEW = NBEW-LFDNR 
0..N

1

 V_NLEM-REFBEW = NBEW-LFDNR 0..N

{0,1}

NFAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

 V_NLEM-FALNR = NFAL-FALNR 
0..N

1 NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]

 V_NLEM-ANFOE = NORG-ORGID 

0..N

1

 V_NLEM-ANPOE = NORG-ORGID 
0..N

1
 V_NLEM-ERBOE = NORG-ORGID 0..N

1
 V_NLEM-ORGID = NORG-ORGID 

0..N

1

NPAP

MANDT [CLNT (3)]

PAPID [CHAR (10)] V_NLEM-PAPID = NPAP-PAPID 0..N

{0,1}
NPAT

MANDT [CLNT (3)]

PATNR [CHAR (10)]

 V_NLEM-PATNR = NPAT-PATNR 

0..N
{0,1}

NTMN

MANDT [CLNT (3)]

TMNID [CHAR (10)]

 V_NLEM-TMNID = NTMN-TMNID 

0..N

{0,1}

NTPK

MANDT [CLNT (3)]

EINRI [CHAR (4)]

TARIF [CHAR (2)]

TALST [CHAR (10)]

 V_NLEM-ICPML = NTPK-TALST 

0..N

{0,1}

T000

MANDT [CLNT (3)]

 V_NLEM-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 V_NLEM-EINRI = TN01-EINRI 

0..N

1

TN21Y

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ABTYP [CHAR (4)]

 V_NLEM-ABTYP = TN21Y-ABTYP 

0..N

1

TN26E

MANDT [CLNT (3)]

EINRI [CHAR (4)]

DIALO [CHAR (2)]

 V_NLEM-NLSLOK = TN26E-DIALO 

0..N

{0,1}

TNK01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]

 V_NLEM-HAUST = TNK01-KATID 

0..N

1

 V_NLEM-ICPMK = TNK01-KATID 

0..N

{0,1}

 V_NLEM-TARIF = TNK01-KATID 

0..N

{0,1}

TNT0

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ZOTYP [CHAR (3)]

 V_NLEM-ZOTYP = TNT0-ZOTYP 

0..N

1


